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PERFORMANCE OF GROOVING PAVEMENT IN SNOWY AND COLD REGION

Yasunori HAY ASAKA, Civil Engineering Research Ingtitute of Hokkaido

In laboratory and field tests of this study, we observed grooving pavement to determine the optimal groove width,
depth and interval. Our evauation focused on (1) skid resistance (under each of dry, wet and icy road conditions), and
(2) drainage performance reldive to non-grooved pavement. We dso comprehensively evauaed the groovings
through confirming the durability of grooving againgt rutting and loss of groove edge due to asphdt flow and wear.
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